Urban Planter

User Assembly Instructions

assemble the urban planter.

5602-000200-00-00,
307x10” planter

5603-000200-00-00,
367x15” planter

30” x 10” URBAN PLANTER BODY - 1 pc
ISINGLE LEG-BLK - 2 pcs

3/8”-16 HEX COUPLING NUT ZINC -1 pc
3/8”-16 x 4.5” HEX HEAD BOLT-ZP - 1pc

3/8” FLAT WASHER - 2 pcs

36” x 15” URBAN PLANTER BODY - 1 pc
ISINGLE LEG-BLK - 2 pcs

3/8”-16 HEX COUPLING NUT ZINC - 1 pc
3/87-16 X 5.5” HEX HEAD BOLT-ZP - 2 pcs

3/8” FLAT WASHER-ZP - 2pcs

CHECK CONTENTS MATCH ABOVE

Tools required (NOT Supplied) :
One ratchet with 9/16” socket
One 9/16” wrench

e

slide bolt into opening of leg as
shown above.

et, tighten the first bolt as show,
ensure not to over tighten the
bolts.

2. Place a washr on each bolt and

5. Using a 9/16” wrench and ratch-

3. Repeat step 2 with other leg.

6. Repeat step 5 on 2nd bolt, as-
sembly should now be rigid and
secure.

RTS Companies Inc. | 1027 Industrial Place, St. Clements, Ontario NOB 2M0 | 1-800-663-2803
RTS Companies US, Inc. | 2900 Industrial Park Drive, Austinburg, Ohio 44010-0183 | 1-888-641-3077

Template created 5/23/2013

4. Screw on the connector nut be-
tween the 2 bolts.

April 04,2018
Revision 01

Read these instructions and general information to properly and safely

1. With the planter upside down,
place the first leg on the planter.
Ensure the leg is pushed down and
secured under the mounting lip,
and repeat for 2nd leg.

=

9. Completed assembly. Fill the
planter with soil and plants.

PAGE 1/1



